Given:  g A
Unknown:  mol A
	1 STEP




g A x 
1 mol A   =              mol A


         g A

(Periodic Table Mass)
Example:
Convert 2.5 g of carbon to moles.

Given:  mol A
Unknown:  atoms A
	1 STEP




mol A x   6.022 x 1023 atoms A   =              atoms A

1 mol A
Example:
Convert 2.5 moles of carbon to atoms.

Given:  g A
Unknown:  atoms A
	2 STEPS




g A x 
1 mol A   x   6.022 x 1023 atoms A   =              atoms A


g A
1 mol A

(Periodic Table Mass)

Example: Convert 2.5 g of carbon to atoms.

Given:  atoms A
Unknown:  mol A
	1 STEP




atoms A x 
1 mol A                 =              mol A

6.022 x 1023 atoms A   

Example:
Convert 2.5 atoms of carbon to moles.

Given:  mol A
Unknown:  g A
	1 STEP




mol A x 
g A   =              g A



1 mol A


(Periodic Table Mass)
Example:
Convert 2.5 moles of carbon to g.

Given:  atoms A
Unknown:  g A
	2 STEPS




atoms A x 
1 mol A                 x 
         g A   =              g A

6.022 x 1023 atoms A   
1 mol A


(Periodic Table Mass)
Example:
Convert 2.5 atoms of carbon to g.
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  Spoonful of Sugar






Avogadro’s Number—the Mole (mol).

Mary Poppins might believe that a spoonful of sugar helps the medicine go down, but I’ve found another use for it.  That same quantity of sugar can help you understand the concept of the mole and the enormity of Avogadro’s number.

Show all work, proper units, and cancellations.
What is Avogadro’s number?

Define molar mass.

What is the molar mass of table sugar?  C12H22O11
Find the mass of sugar in one spoonful.

Compare this value to the mass of 1 U.S. standard tsp. which equals approximately 
4.928922 mL.  Density of sugar = 1.587 g/mL


D = m/V

Calculate the number of moles of sugar present in one teaspoonful.

Calculate the number of molecules of sugar that are required to help us take our medicine.
